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QUESTION 1

Refer to the exhibit. An engineer must have communication between EPG1 in VRF1 and External EPG in VRF2. Which
three actions should be taken for the defined subnets in the L3Out External EPG to accomplish this goal? (Choose
three.) 

A. Enable Shared Route Control Subnet 

B. Enable External Subnets for External EPG 

C. Enable Export Route Control Subnet 

D. Enable Shared Security Import Subnet 

E. Enable Aggregate Shared Routes 

F. Enable Import Route Control Subnet 

Correct Answer: CDF 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/guide-c07-743150.html 

 

QUESTION 2

What is a design implication for Cisco ACI using an application-centric approach? 

A. Multiple VLANs and/or multiple EPGs are under one bridge domain 

B. VLAN numbers are in the names of the bridge domain and EPG objects 

C. One EPG is mapped to multiple bridge domains 

D. One VLAN equals one EPG equals one bridge domain 

Correct Answer: C 
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QUESTION 3

Refer to the exhibit. Which feature is available across sites if EPGs are stretched? 

A. active-active high-availability firewall clustering 

B. Layer 3 routing between sites 

C. Layer 2 flooding across sites 

D. live virtual machine migration 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/aci_multi-
site/sw/1x/fundamentals/b_Cisco_ACI_Multi-Site_Fundamentals/b_ACI_Multi-Zone_Fundamentals_chapter_01.pdf (6) 

 

QUESTION 4
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Refer to the exhibit. A customer implements Cisco ACI Multi-Site with default MTU settings between two sites. Which
configuration should be applied on the interface Eth1/10 on the ISN-1 device? 

A. 

B. 

C. 

D. 

Correct Answer: A 

 

QUESTION 5

Which approach does Cisco ACI use to achieve multidestination packet forwarding between leaf switches in the same
fabric? 

A. Map VXLAN VTEP to the multicast group 

B. Map VXLAN to PIM-SM protocol 

C. Map VXLAN VNI to the multicast group 

D. Map VXLAN to PIM-DM protocol 

Correct Answer: C 
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